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If -else :nparvoOwnN

if (condition) statement: if (condition) statement 1;

_ _ else statement 2;
if (total>O) printf ("OK\ n");

iIf (a<0) printf("ais negative\ n");
else printf ("a is nonnegative\ n");

if (condition) it (iq) printf("i is smaller\ n");
{ block of statements } else
else {
{ block of statements} if (i==j) printf("i equalsj\n");
else prmtf( | is larger\ n");
}

if (iq) printf ("i is smaller\ n");
elseif (i==j) printf ("i equalsj\n");
else printf ("I is larger\ n");




If -else vown

iIf (condition1)
{ If (condition2)

{ block 2 yes; } NP'ONN"IX NI7IYO 1 TO
block of statements; } D'on' 1197
else if (i5f+1) printf ("i is big\ n");
{ If (condition3) - T
{ block 3 yes; } if (ix(j+1)) printf("i is big\ n");
else

{ block3 no; }

block of statements;} float a,b;

if (fabs(a-b) <1.e-6)

printf (“a =b\ n");
#include <math.h>




X170 N7 VOWN

if (condition) statement 1;
else statement 2;

(condition) ? expressioni : expression2;

max =(a>b) ?7a:b; int n;
float f;
if (a>Db) (n>0) ?f :n;, — float
max =a;
else

# include <mat h.h>
a=(x1=0)? (exp(x)-1)/x :1;

max=Db;

a=(fabs(x) <1.e-6) ? (exp(x)-1)/x : 1;

d

(fabs(x) <1.e-6) ? (exp(x)-1)/x : 1+x/2;




switch vown

Int menu;
swit ch (expression) printf("Main Menu\n");
{ case const-expr: printf("Rotate a vector  [1]\n");
statements: printf("Invert a matrix [2]\n");
case const -expr: printf("Find a determinant [3]\n");
st at ement s: scanf("%I",&menu);
def ault : SW{ItCh (menu)
statements; } case 1-
/* Vectors: */
break;

case 2: case 3:
/* Matrices: */
break;
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Operator Meaning

&& AND

|| OR

! NOT

X1 X2 1X1 X1 && X2 X1|| X2
TRUE TRUE FALSE TRUE TRUE
TRUE FALSE FALSE FALSE TRUE
FALSE TRUE TRUE  FALSE TRUE

FALSE FALSE TRUE  FALSE FALSE




Logical Operators nial? ni7iyo

N'a1? 1197 D'oN':NI?IY9 1 TO
if (first_initial =="A’ && last_initial =="G || id == 321)...

if (((first_initial =="A’) &&
(last_initial ='G)) || (id==321))...
la evaluates to —
le evaluates to —
a=10, b=5, a& &b evaluates to —
c=0, d=5 a>b evaluates to —
b > a evaluates to —
a ==d evaluates to —

a = d evaluates to —
d >= b&&c < a evaluates to —
a > blle > b evaluates to —
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while (condition) statement;

do statement while (condition);

=t i=10;| =1

while (i<10) do

{ {
printf ("%i \ n",i); printf ("%i \ n",i);
|++; I+

} }

while (i<10);




Loops nNIX717

for (initial; condition; st atement 1)

statement 2; i=1;

- while (i<10)

initial: {

while (condition) printf ("%l \ n",i);
{statement 2; |4+ -
st at ement 1;} }

for (i=1;1<10; i++)
printf ("% \ n",i);
for (i=}y=D;14; +H)
prin?("%i \n",i) ;




